Pl g

KIFZVF X ARERA==2—NERERRZVE T,

| %

Yy ReEr—i
680 M (s 748 1)

oAl BT (HH)
700 F (852 770 1)

VY Taa—nLe—irA Ak
T LI TFLTILIZ—I T —
500 F (562 550 )

il
HM (8 ) B - 0

el o 600P§(@m660m)
750ml< K b v > 3 800 (s 4,180 m)

“e 2 (H ) 7ot e
375ml 3,200 M (23,520 1)

ITNTd—=2 « €22 T—N (F)
Ti7 R e n AR 4
375ml 3,200 M 23,520 m)

i3

550 M (52605 m)

S e A
590 Msn649m)

) v TFAa—AHElETA A b
5 CHlEA /v TLa—N
480 Mssn528 1)

e N

7597 =y HAAE -
500 M (52550 m)

VYV —AR—
550 M(sz605m)

I— I AfFR—I)L
550 M(sz605m)

N[ R —IL
580 FEJ(ﬁéil\GSS M)

T2 R O s ot
GSOH(B‘%MS )

H Ao BESL ~"MA—n
780 FMsn858m)

IV TNAITI—NANAR—INLT LA}
ARhTEOEXaNfHR—IL
500 FH (2 550 1)

H 2 18

H A

550 M(sz605m)

28 s Cil

750 Mesrsosm)

AN—=2 ) VIR ]%?
550 Mssz605m)

EEE R, b & ik < Fup >

<752 120m>  600M @660 m
< R b L 640ml> 3,100 F(ss23,410 m)

MEAR~nF0b~ #ikmfE < Lo >

<752 120m> 900 M (52990 m)
< R Fv 720ml> S,SOOF':J(%MJSOH)

J\TE L] ks < wim >

LT R 100ml> 9OOF':J(fm990 =)
< & b 720ml> 4,200]3:](%%‘1&4,620 )

NV B B sikAmi < ) >

<772 120m> 950 (sa1.045m)
< &R b 720ml> 4,500]33(%%57_\4,950 )

7\1'7EI'<EEI:F% e P < e >

<792 120m> 650 @715
< kv 720m1> 3,200 (523,520 m)

MR T sikkmmm < His >

< 77 % 120ml> 1,300 M (521,430 1)
<R kv 720ml> 6,800 M (527,480 1)

7 — - EA

Lot basa @l
650 M (s 715 m)

= HHBKE A

650 M #2715

FHAHE D
550 F(an605m)

[l 58 9 —
520 IIJ(ﬁmS?zPa)

=Ry A
520 M(wns72m)

Lot e
520 Msas72m)

xR A
520 M (82572 1)

U —K

e
650 Msa715m)

S|

vy 2z - KED - B5HE

* HIhnh
550 F (852605 1)

= —% IR
600 M sz 660m)
<& b > 3,800 (s24,180m)

* {ikk B

N VWY

750 M (52825 )
<& b >4 900 M (55,300

£ Ehnb
550 F(en605m)

% FNOR

600 M 2660 m)
<HKI> 3,800%(%&4,180 )

oAb )

D= i) =T L
Rybhy—aryAR LEVAAYYa
e s E 9 s =
s A s oo

e A e e
% 400 (52 440m)

Hy—oa Rk
450 F (82 495 1)

2HDORE V—Z
450 (g2 495 m)

HikE REOHE v — X E|
450 F (52 495 1)

7Livn EMRDA Y 2—A
500 M (82550 1)

7viTa N g2 —=&
500 F (#2550 )

A gl

IV Taa—ne—irA Ak
TULITFLTLI—NLTY —
500 M (852550 1)

v T a— KT A A b
5 ClA /v TLa—L
480 Mssas28m)

g e e e T G
RHTEOXa N[ R—IL
500 F (52 550 )



